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¥93%1: Data Structure and Computer Programming Techniques
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1.1 (10 AZLUY)
a so A vq ¥ S PR y ¢ d v ) do
mmauﬂm%wxa copy_str Iﬂﬂi"ﬂcl&b' NOYUNDT (°r‘nN1%915!58!!@3ﬁ1ﬂ1‘ﬁﬁ@ﬂ‘lﬁﬂstrcpy Gl‘l!

standard Iibrary)ﬁhﬁ‘function prototype Al

void copy_str(char *dist, char *source);

J v o a - o a Y 1
Hlandu copy_str vz lnanss dist Iveanumileuiuanss source Avd1amsisonly

- 1
W9N¥u copy str A main WU

char str[20];
copy_str(str,"Computer™™);

{ A 4
cout>>str;  // YeanuhfiuniesnuAe Computer
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UVIUNINFU search_number LW’E’]Gl‘Iri‘VINWuul@WHN“VIﬂ”Iﬁuﬂ Tﬂﬂmeumw:mmmmﬂu
du AN A v g’ - - Y = Y o Q‘J -
HanFunNGonA 1099 (Recursive function) ﬂ1NNﬂTﬂ%ﬂ1ﬁfhﬁn§3uiﬂu(Whl|e,
for, do-while)
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#4839 how_many_equal_number l¥dwsumsmuvesavigiiulueisisd Tislalnilves
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int how_many equal _number(const int A[],

int N, //ﬂl‘LHWUEN’EJﬁ'LﬁET(IO)
int desired value);
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ﬂ”lTi‘L.l@ﬂﬂIﬂiQﬁiNﬂJﬂQﬂl@lJa%ﬂ Employee Lwahmmay‘ammwumm ANU
class Employee{

private:
char* first_name: //1%fuFevsamineu
char* last_name; /U/%ﬁﬁUHWMﬁqamﬂﬂwﬁhdiu
int employee_id:/ /lHnuavilsesrdveaniinau
double salary; / /sivdasitudeuueamiinaiuy
public:

void increase_salary(double percent_increase);
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91N class Employeeﬂnﬂﬂu%QWﬂuNﬂﬂ%u|ncrease_salaryLW@i%iUﬂiﬂwu
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A3 1UIABYN (salary) 1¥wiinau (Employee) lagnviualdilangu
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increase_salary UNW15UINDT 1maﬂﬂLﬂﬂiumuﬁuluﬂ@umll(percent_lncrease)
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void increase_salary(double percent_increase);
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2.2.1(5 ALHUY)
21U argument 919 command line HazasaeuN ATy argument 911
- - 9 =) v 9 o
command line (command line argument) gﬂ@lmﬁ‘iﬂ"lu DINANITATIVADUIIUIU
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argument N1 fAd Gnaeum"lwa‘wmwauﬁammwumm
current_emp_data.txt
~ A A P 9 o o ~ Yo dy a
argument 11 2 f19 615@mm"I,Wamﬂumayjammwummwmmrm"lm‘umiﬁuumu

oY updated_emp_data.txt
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argument 11 3 A9 L‘]Jail,«nummm@umu
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1 @ 14
awu%’ayammwummmﬂﬂa current_emp_data.txt
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(VouUZHY - U.A.TINTDEI NN class method @171 class employee
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= ] do Ao NYq ¥ A A a A @
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freg19anasulilsunsu argument 3

User W13 7 command prompt l
~> increase_employee _salary current_emp_data.txt updated _emp data.txt 5
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% 1 9 4
ared1toyaluvd current_emp_data. txt

->employee_id
->First_name

100
Pongpol
Adireksarn
10000.00
200

Adisai
Bodharamik
12000.00
300
Anurak
Chureemas
50000.00

->last_name
->salary

ﬁﬁadiQ%@yaiu1Wﬁhpdated_emp_data_txt Mﬁﬁ@ﬁﬂﬂﬂ??%@ﬂiuﬂimincrease_emp_salary:

100
Pongpol
Adireksarn
10500.00
200

Adisai
Bodharamik
12600.00
300
Anurak
Chureemas
52500.00

->new salary=old salary + 5% of the old salary

->new salary=old salary + 5% of the old salary

->new salary=old salary + 5% of the old salary
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® insertAt (6ALLLUU)
® seqSearch (7 azuuY)
® removeAt (6 AZLLUY)
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@11 function prototype tagl¥niau ldaudesmuadadl

class arrayListType{
public:

void insertAt(int location, iInt insertltem);
//Inserts an item in the list at the specified location.
//The item to be inserted and the location are passed
//as parameters to the function
//1T the list is full or the location is out of range,
//an appropriate message is displayed.

int segSearch(int item);
//Searches the list for a given item. If the item is
//found, returns the location in the array where the
//item is found; otherwise, returns -1

void removeAt(int location);
//Removes the item from the list at the specified
//position. The location of the item to be removed is
//passed as a parameter to this function.
//1T the list is empty or the location is out of range,
//an appropriate message is displayed.

private:
int *list; //array to hold the list elements
int length; //stores the length of the list
int maxSize; //stores the maximum size of the list
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node_type* intersection(node_type* L1, node_type* L2)

//Precondition: L1, L2 are linked lists both sorted in ASCENDING
// order of their integer elements. There are no
// duplicates in a list.

//Post condition: returns an entirely new list (L3 as shown in the

// example)which is the reverse intersection of the
// elements of the two input lists(L1&L2).

Typedef struct
int info;
nodeType* link;
} node_type;
@onuziir: L3 lavinmaielement iinslu L1 wag L2u5esnnuinlidwilos 1ig

% 1 9 1
A19819119a 19152 NB 1)

f10814.
Input: L1->[2]->[9]->[17] 5ea91nio8 11N
(ASCENDING )
Input: L2->[3]->[9]->[12]->[17]->[20] Sesnniiesldunn
(ASCENDING)
output:L3->[17]->[9] 3aanninnliiies
// f----- //



